Note: The following letter and accompanying table were sent to Congregation Sons of Israel in Springfield, MA, in 1922.

Esteemed friends in Springfield:

We are sending you the register of the moneys which we received from Springfield and [you?] are awaiting in Philadelphia [?] with the account as to how the money was allocated. We thank you very much for your not forgetting us and being always ready to keep your hands open to help us as much as you can.

The number of homeless now in Kishinev is 165 people. [Note: matches list] But how much can a thousand [?] help at this time of great inflation. Everything is very expensive. One pud [about 36 pounds] of matzos costs 400 lei and matzos alone are not enough. You need something with the matzos, not to mention clothing, especially since we have many problems which have to be addressed immediately.

We have before us Esther Eydelmahn, Zeydel the Redhead's widow, with three orphans who are prepared to go to Palestine. She already has [trebavanes travel permits?] and citizenship papers but she still needs a few thousand lei for the journey and I have to help her before anyone else.

There was a time before Pesah when everyone of us was weak and could not earn anything. You know our situation very well, what condition we are in. We recently had a very tragic time. People were lying face down [on the ground?] "Whence cometh our salvation?" [Hebrew] How can we help everyone? We all looked into our Haggadah to the passage "We were slaves to Pharaoh in Egypt" and we hope for "And he took us out of there." [Hebrew] We do not understand. Not only has God broken us and destroyed us, we cannot understand God. "Whence cometh our salvation?" when will there be an end to our suffering and our plagues?

We know, sisters and brothers, that you cannot give us a way out [?] Because we know that you are not yet completely free. But you are still freer than we are. Therefore, sisters and brothers, we ask you not to wash your hands of us and think, "We are here and you are there." No, it is not like that. You should know, dear brothers, that you should and must be obligated for every one of us. You have to think carefully about what will become of us and to what safe shore we will arrive.

If you wash your hands of us and harden your hearts and do not want to know about us, what will, God forbid, happen to us? Who will say a good word for us?

So we turn to you so that we may live with the hope that if you cannot help us now, God will help us later. Perhaps we shall be saved gradually, a bit from here, and also by our brothers from America. We see that our sisters and brothers in America have become completely weakened and have closed their hearts and eyes in order not to look at us. But we are here, lost, God forbid, and we shall have to remember the sentence from the Haggadah, "what we ate in Egypt." [He refers to the Israelites complaining to Moses about the manna and how they ate certain foods in Egypt] Perhaps it would have been better if we had remained in Ukraine with the bandits and would have avoided the suffering here and the passing of the burden to our brothers in America. They have simply gotten tired for "Until when" there should already be an end to this. We have been shnorers and shleppers [beggars and tramps] long enough.

Not so, you are not responsible. [Two sentences indecipherable] If you would only read our letters over and over, how we turn to you with all kinds of requests that we had never imagined we would have to ask for such matters. Now that we beg from you and demand from you that you help us, you may not refuse us.

Friend Melmahn, there was a meeting of our homeless. Each one of us expressed his opinion but we all decided that our American brothers have all fallen asleep. There must be a leader, a worker to wake up our sleeping brothers in America. For we see that here in Kishinev if we would have a leader perhaps we would be helped bit by bit.

Since Father Bedermahn left us, you were the first to provide help for our homeless, and we see and we do with the -----[?] that you work for us and raise [funds] for us and that you are close to us as is right and proper.

Although Friend Melman [not an error, he spelled name differently each time] no world can be made completely just. Moses our teacher was greater than us, and he still could not get along with the Jews, so how can we especially when everyone is so full of troubles and has a wounded heart?

Therefore, we should not write you too much and you will understand by yourself who is writing to you. Nevertheless, we beg of you Friend Melmahn, that you should not fall asleep and that you do something for us and continue working for us. You probably know how to carry on the work with the volunteer committee, except for the secretary who takes on all the problems of the homeless, to represent them. [I think he means that the secretary gets a salary]

No one takes anything and the accounts we send you are totally correct because every head of a family is registered and the accounts are correct to half a penny. We wish you all good health as the committee wishes you in the name of the homeless.

Chairman Yisrael Vilfand

Secretary Yeshayahu Ferdmann

Avraham Kramer

Levi Ostrovske

Shlomo Gaykhman

Pyaterer Relief 1922

Pyaterer Relief Help for Pyaterer Homeless May 1 1922 Kishinev

No. 106

Registration for all homeless

American Surname ¹		Names and Family	Loan ²	Amount Received ³
TONKEN?	1	Eliyahu Tankerage	6/180	900 Eliyahu Tankerage
	2	Sarah, his wife		
	3	Brahnke		
	4	Beyle		
	5	Mishe		
	6	Manya		
GORDETSKY/GORDON?	7	Avraham Gorodiske	5/182	910 Avraham Gorodiske
	8	Sarah, his wife		
	9	Tsevi		
	10	Ita		
	11	Mordekhai		
KRAMER	12	Avraham Kramar	5/150	750 Avraham Kramar
	13	Mendel, his wife		
	14	Pesah		
	15	Sohnya		
	16	Hannah		
POSTILNIK	17	Avigdor Pastilrik or Fastilrik	182/2	364 Avigdor Pastilrik
	18	Rahel, his wife		
SOSIN	19	Adel Sahsin	182	182 Adel Susen
ZUBROTZKY/ZUBROW	20	Aharon Zshabritske	6/150	900 Aharon Zshabritski
	21	Brakha, his wife		
	22	Hannah		
	23	Zisel		
	24	Reyzel		
	25	Avraham		
MENIS	26	Aharon Menis	4/150	600 Aharon Menis
	27	Batsheva, his wife		
	28	Shmuel		
	29	Rivke		
EDELMAN?	30	Esther Eydelmahn	4/182	728 Esther Heydelman
	31	Yisrael		
	32	Yosef		
	32			
	33	Adel		
SWERSKY		Adel Ides Skvirske	4/182	728 Ides Skvirske

American Surname ¹		Names and Family	Loan ²	Amount Received ³
	36	Rivkah		
	37	Feyge		
SHUSTERMAN/SHUMAN	38	Michal Shasterman	4/150	600 Michal Shustermahn
	39	Devora, his wife		
	40	Tani		
	41	Rahni		
TONKEN	42	Haya Tanerage[?]	3/182	546 Zalman Livnieytski
	43	Tove		
	44	Zalman Litinetske		
POSTILNIK	45	Freme Pastilnik	180	180 Freme Pastilnik
KRASNE	46	Pinhas Krasne	4/182	728 Pinhas Krasne
	47	Lifsha, his wife		
	48	Shmuel, a child		
	49	Hayke Misyanznick		
LITINETZKY?	50	Shemuel Litinetske		364 Shmiel Litinetske
	51	Rahel Litinetske		
FERDMAN	52	Batya Ferdmahn		450 Basyah Ferdman
	53	Yeshayahu		
	54	Brakhah		
KAMINSKY	55	Benya Kaminske		728 Beni Kaminske
	56	Hasya, his wife		
	57	Rahel		
	58	Bazya		
WILFOND	59	Yisrael Vilfand	7/150	1050 Yisrael Vilfand
	60	Hannah, his wife		
	61	Aharon		
	62	Havah		
	63	Rahel		
	64	Libe		
	65	Rivka		
GRIBELUK/GREEN	66	Yitshak Gribeliak	5/162	810 Yitshak Greblakh
	67	Batya, his wife		
	68	Tabel		
	69	Feyge		
	70	Moshe Mordekhai		
FERDMAN	71	Freme Ferdmahn	182	182 Freme Ferdman
KLEIMAN?	72	Fahlik Klayman	6/185	1110 Fahlik Klayman
	73	Sheve, his wife		
	74	Yokheved		
	75	Fanya		

American Surname ¹		Names and Family	Loan ²	Amount Received ³
	76	Rivka		
	77	Bliame		
SHUSTERMAN?	78	Shemuel Shisterman	3/182	546 Feyga Shustermahn
	79	Etel, his mother		
	80	Feyge, his sister		
MAZARITZKY?	81	Yehoshua Mazaritske	5/150	750 Yehoshua Mazaritske
	82	Esther, his wife		
	83	Zalman		
	84	Faya		
	85	Sarah		
SOSIN	86	Sheyna Hayeh	6/182	1092 Sheyna Hayeh Sosin
	87	Rahel		
	88	Avraham		
	89	Zalman		
	90	Eliyahu Kohen		
	91	Gasya, his wife		
SIGAL	92	Naftali Yisrael Segal	4/150	600 Naftali Yisrael Segal
	93	Reyzya, his wife		
	94	Lifsa		
	95	Tovya		
DERGONSKY	96	Pinhas Derzanske	2/180	360 Pinhas Derzanske
	97	Brakha, his wife		
OSTROVSKY/	98	Levi Hostrovske	5/150	750 Levi Hostrovske
OSTROWSKY	99	Rahel, his wife		
	100	Perets		
	101	Tsippa		
	102	Moshe		
KLEIMAN	103	Shmuel Kleymahn	3/182	546 Shmuel Kleyman
	104	Rivka, his wife		
	105	Bazya		
ALPER	106	Yisrael Moshe Alper	6/182	1092 Yisrael Moshe Alper
	107	Maryam, his wife		
	108	Rahel Alper		
	109	Yente		
	110	Sheva		
	111	Hannah		
DERGONSKY	112	Yosef Derzanske	180	180 Yosef Derzanske
KRAMER	113	Hayim Tsevi Kramar	6/150	900 Hayim Yosef Kramer
	114	Freyda, his wife		
	115	Yitshak		

American Surname ¹		Names and Family	Loan ²	Amount Received ³
	116	Yeshayahu		
	117	Azek		
	118	Nahum		
FECHTMAN?	119	Yeshayahu Fekhtmahn	3/150	450 Yeshayahu Fekhtmahn
	120	Golde, his wife		
	121	Esther		
	122	Ende, his mother	182	182 Ende Fekhtmahn
HOFFMAN	123	Yisrael Hofmahn	150	150 Yisrael Hofman
KRAMER	124	Tsevi Kramar	6/182	1092 Tsevi Putermanske [?]
	125	Esther, his wife		
	126	Sohnya		
	127	Bazya		
	128	Eliyahu		
	129	Eliezer		
HOFFMAN or GOCHMAN?	130	Shlomo Gakhmahn	6/182	1092 Shlomo Galhman
	131	Rivka, his wife		
	132	Zekharyahu		
	133	Enekh		
	134	Aharon		
	135	Rahel		
BUROWSKY?	136	Pesah Bazavske	4/200	800 Pesah Bazavske
	137	Razya, his wife		
	138	Sohnya		
	139	Yitshak		
CUTLER?	140	Malka Kotlyar	2/182	364 Malka Kotler
	141	Devora, a child		
SHUSTERMAN	142	Ya'akov Shusterman	2/182	364 Ya'kov Shusterman
	143	Etel		
ROUJANSKY	144	Keyla Rozshanske	3/182	546 Eliyahu Rozshanski
	145	Eliyahu, a son		
	146	Rivka, his wife		
HOFFMAN	147	Yisrael Hakhmahn	2/150	300 Yisrael Gakhman
	148	Beyla, his wife		
LERMAN?	149	Marim Lirmahn	180	180 Marim Lirman
SPIVAK	150	Resel Spivak	7/182	1274 Resel Spivak
	151	David, a child		
	152	Golde		
	153	Masya		
	154	Hannah		
	155	Moshe		

American Surname ¹		Names and Family	Loan ²	Amount Received ³
	156	Tovel		
TEPLITZKY	157	Mirel Teplitske	2/182	364 Hayke Teplitske
	158	Hayke, granddaughter		
KLEIMAN	159	Gitel Kleymahn	185	185 Gitel Kleyman
EDELMAN?	160	Pesah Eydelmahn	182	182 Pesah Heydelman
GROSSMAN?	161	Gitel Grayzmahn	2/182	364 Gitel Grayzman
	162	Mali Graysmahn		
GOLDBERG	163	Sheve Goldberg	150	150 Sheveh Goldberg
SCHWARTZBERG	164	Betsalel Shvartsberg	2/150	300 Betsalel Shvartsberg
	165	Etel, his wife		

Seal of Pyaterer Relief Kishinev Bessarabia Chairman Yisrael Vilfand Secretary Palin [or Falin] Kleymahn Avraham Kramar [or Kramer] Yeshayah Fekhtmahn Shlomo Gakhman

Note: Romanian currency: Leu (plural: Lei); in 1929, 167.20 Lei = \$1.00

¹Column not included in original document.

²Column represents number of people in family and loan amount in Lei per person.

³Column represents total amount received in Lei per family and the name of the person who signed for the money. Sometimes signatures differed somewhat from the way the names were written by the secretary.

Note: The following document was written by the secretary of Congregation Sons of Israel in response to a previous request for assistance by the former Pyaterer residents who were living in Kishinev, Bessarabia.

Jan 29 1922

There was a special meeting at the Bnei Yisrael Synagogue, 592 North Street [?], with Chairman Heshil Levit where a report was given of the relief work up till this meeting There were nominations and elections of officers and the following were elected. [Line crossed out]

Mr. Millman, Chairman, Sara [?] Lender, Treasurer, Refael Kallin, Secretary, and Levi Levine, Tsevi Kallin, Baruckh Levit and Yitshhak Lender -- Executive Committee. [Line inserted undecipherable] There are emergency cases which cannot wait for a regular meeting. In any event they cannot -- any case of homeless families over 15 -- and the Executive Committee must also take care of the finances.

The officers and the committee were elected for a term of six months until July 29 1922. Heshil Levit brought forth before us a case about Moseh Shohat's daughter who is in Warsaw and needs help. It was decided to send her \$10. Mrs. Nele Greenberg and ---Kallin have volunteered to collect for next Sunday. At this meeting we collected \$18.

R. Kallin, Secretary

Original Documents

ייטרער אוע 1922 אוע	N 6 1 N	5	
	106	62. 4	
The sinkfort	110	491120114)	
		They or of walk	1
and e	150	1/20 1/2011	2 3
gooding grand "		というと	4
		N.St.	5
	SECTION OF	In JICH	6
910 Moi31111 6) 311	5	てんのはいいん よシンシャ	y o
	182	139/12026	9
	•	461	19
		way.	//
	5	JIMINOS TOUS K	12
12005 dime all	150	11787 61/60/1	13
	700	Con	14.
	Control of the Contro	アリア	16
3640 2 160110 7/21 20	182	4 Sig BC B 40 DEGG	14
Suy C	2	crf 61/60/1	18
182, HOLD JEBLG	182	hoero gran	19
	and the second s		

		6	4度けられてら 1つのは	20
		6	1/20 /15 DJJ?	21
9000/	ling one of	150	シン	22
9			340,7	23
			3-1311	24
			१७७२४	2/5
01	10011	1	1741 /JEK	26
	600 den	150	520/11 91/0c/1	27
			Deine	28
			1100	29
728	elei posars mon	4	HOVE HIERTHAL	30
		182	1081	31
			8,011	32
			71814	33
400	1/10/0 0/8/10	1	MIGNO OPPICOLE	34
128	derilles oraise	182	18000	36
		and the second s	9/33	3%
			hrongong from	38
Can	1	4	histories Disk	39
000	13/11/2018 JUIN	150	פרוכה ליון פרוו	40
		A Commence of the Commence of	')''	41
		y	4016 2411 ×	42
54	the reservent only	3	43/6	43
0	16 Kiloserisch my	182	181 1.0.1.61	44
The state of the s	estaare mue	180	9/21 /19.1.6/2 6CH1-CHODIFCI	45
	per a back by the back being		Salar de pareiro de la companya del companya de la companya del companya de la co	

	4	GLAO JENOCH	46
728den 10119 01110	182	14602 61/ Octi	44
[2001211		Jring white	48
	186	אונד מיסיארליל	49
364 April 18 HUB	Total Committee of the	I sind from by	50
364 April 18 84.18		ביל ליטינה לבן ה	51
1.00		בתפ פתפונום/	52
450 111370 DONE		19161	53
		7977	54
\$28 den	· ·	atonik himse	55
\$28 den		1700 /119 KIOKI	56
	Same of the same o	gr.	5%
	The state of the s	Bungful fuser	58
1 - 211 (7 t	1/29/12 DIV	60
3/10bll Junes	-	120K	4
10 CO do a	150	2/2	62
umoro 1050 desi	and the second	En?	B
	The Adelege of the Control of the Co	12.1	64
	autorio de la companya del companya de la companya del companya de la companya de	2/37	65
serina estil	5	ibul heisign	66
		1/20 /11/ Burs	67
810 den	162	groce	68
		6 11/2	69
	· ·	100 1060 N	20
GCAND GREWING IN	182	GC+1- Glogary	71
	and a second second		- Company of the Comp

	and continued to explore the continued of the continued o		Philadelian Advantages
	6	ไขนาใใ โครมเอ	72
Molen	6		73
	188	اوجو	74
(Dy flug		Culin	75
majo	control of the contro	@\?)	76
		- Chirits	ZZ.
546 CANDAGOIL DENO	3	Jung Soon Jung	18
0 / 4	182	7401 /112 f 464	29
		24 COAL 6 1/2 7 (119)	80
2	5	न्युकाराधार नार्वाका	81
450 Agingin 16hi	150	100 (91/ Och	82
	700	1433	33
		4119	84
		206	83
- Jono sonsone	6	8"14 rare	26
1000 /	1892	Sin	82
1092 den	182	1233 K	38
			39
		100 1:00 h	Jo
Lead isorbi sho	1,	129 /119 K10K6	91
	4	(6 M well only	93
Gooden	150	100 p x 5 1 }	94
	in a manufacture of the second	1.536	95
in I a Mayura (a) and	2	GUO SPOSHOP	96
360 Abolilod ove	180	1/30/1/06/1	94
	1 20	1,201,3,3,7	
The second second second	- Landerson Control		

	-	fli Enoderllar	98
	5	כיול ליין פכלו	99
\$50. yorle and	150	1/20 /1/2 Pro	100
	Control of the contro	40,8	101
		NO O	102
546 et en compoline	3	SKING PHIKE	103
	182	1/20/15 2/22	104
		וואור	105
		्रेटार मार्थ मिला किल्ट	106
1992 soli son Skew	6	Micis gid Geli	10%
	182	cy steks	108
		11-631-	109
		-01-10	110
		シンソ・	.///
180 steller 3.80/1	180	MIN GENTERINO	112
	6	VIII GEILCINIO	//3
		1129 117 491139	119
पानि हर वीकात्र 00 B	150	hg.	115
		19461	116
		4PM	1/2
		21/1)	1/8
	3	Me ecenial	119
450 purche arei	150	37/ for Gil Och	120
		NOK	121
182 CUNTO -34	182	HEBY 61/ 11916	122
150 menta fine:	150	वितावात केरिया	123

		JILLIN 7 178	124
	6 182	100 K C 9 1/ Och	125
1092 dei - joursone al	182	ri) aro	126
		ונוגוניף	127
		hall	128
		2500	129
	6	Puranch 24/6	130
0		1,39/19 2/33	131
1992 prome onte	182	1,3795	182
		3-17-	133
		13217	134
	Ц	A PARTY OF THE PAR	135
for rpollisizion	900	600 ENTINGE	137
Ser delina, chia	100	ki) DKO	138
			139
	2	Jugard 20071	140
364 DriskGirg mpsu	182	कर्रात भारह	141
364 Juna son sine	2	113012016 3 FLI	142
001-2	182	1404	143
Mac teamorile hade	3	life cifancolo	144
546 youres 10 Nor B1	182	1.711 1.2712	145
		109/10 gill coli	146
300 2000 8118	2 150	Pen Dre Brogi	14%
		entre du Celi	148
1800/en yard es in	180	אונו ליב אונו	149
			The state of the s

		Cross ocillal	150
pulles from	7	311/12/10	151
	100	-13 fre	152
12th den	182	14014	153
		シッ	154
		No ser	155
		J-145	156
364 offisa6-19.00	2	गठिमुकाट रेग्जा	15%
100 lundita	182	3397 - 1111	158
185 181 A En 181 182 182 182 189	185	John flygir	159
182 / 100	182	Cor ring 15 ring	161
364 propert 861	182	אירה לכוה אישר /	162
150 Em alur stal	150	12473 JUL 41148	163
300 den	2	क्षेत्रविशाविद्युत्र	164
referred Listes	150	deitis hopes	165
	entre de la constante de la co		
			Total Control of the
			Administration of the second o
			The control of the co
	G.NOA.		Transportation (II) of regular
	XX		The Company of the Co
			E Control of the Cont
			and the second s
SUNGERO PHE	The configuration of the party	Shoby Inci	1979
SERIE PILEVING.		المراجعة الوالما والمسامرة	7 79 2
Physil !!		Just film	ערןי

פ מטערער רעליף הילף פאר פיאטערער היימלאוע

FINCON COURS ON OCCINORS

ens only tegit ing ling righteenthe might one the on FIR ROUGH DISTURD O PED POR DIE PROPERTY PROPERTY JOS OCHO CON MO MIL US I MIN THE WAY OFFO MY EIDINGO ONC med my but this on hours this give pour (3) 11 (11) 110 110 (3) (2) (2) (2) (2) (2) (2) (3) (4) (2) (4) אטירפה עוופא פוא עות שוואכד אווף ביו אופא פים אווח manne fing of a break end six on only and Eff 179 en 3 soil /2 11 /2 part 182 /14 egu 122 finos on oxy To how one of the one one one of a fire Age ing and like Digit king 400 MID Hepresit eres of MILE July Pir office 461 VIII 4000 mg 181 / 121 1 10 10 10 100 111 1 181 hilling may how and (In) going in tentities Und his or consols fire conforment his or ordered In 2 egas to thought so offic hes offic (11) mis nous mielfinal ques chales cultons निर्मा किया की हा हा का का का का का का की का की की की का की की की פארלטבולד לוא פאש הוא ברצאווהום און צוכלאב "פאופיבא (xc so 6:80 xic (11) x/10 28:00 0/10 00 2K)

Pin or fur four one hogy sur my suce on cond my fur Horse Pint on o hije his + his min his his his of one for his of his con fire The Copillity copil On this on whose colony in a confess oil fin for פום אות פאופל אליא לווצר און שנודנולד פווש און אוש שנוצלד דורד risk my ist kulling sile file file file file for the file for his eit J-2-1) exu Pin ho organ toy teopient ofgranik organ level गटा रेमिर्य भी होए होन क्षेत्र मारे अर्थन (गर भारत महार कार होनेर निर्मा ens fire son a milling on on singly on on singly on Pring en ent oug Firs on) on huco als Pring on ing אין פינכיוסא איין איון יושול ליואופט עבר דיכרי עכב, אע רפ אניולאא his tors and low till 1) sty is live theory con ont on HOL CH MIRICO GENT MIL CON MICH WITH MODERNO Mahir con) Jip Dir Dir Dir Dir Dir Dir Dir Dir Jil toling Pink find of was and one and bing this of this on his off in ofe on me of the ope in ecieto when Leanse for his ent while hand six on for his they عبد الماد ومن كرد وهم لمد وه ون هم ومن و ملاء عدد الم المع المعدد ومن ومن ومن ومن مد لمد المعدد المعدد ومن ومن ومن ومن المعدد ال Pul out Hearsers eit mig Ans his Yell min fest gille 2/2 ling soft and such such such son first him has her him him him The system of the fire fire of the fire of

fork he goes of boy from hory early only Organized on topy soot make ecielo and whole (no por enge no sult us make appropre אר בשר און פוים אוון בוויך און און אוון אות און אווים און פוים או los ing transporte es on la toping estate on la propose estate on la ودول برد دوان مر د برود برود من المال د من المال من المال من المال من المال من المال من المال من المالم In herons in s in s sind of the tungs fylis fight on it souls After gym his toom ing ing Us conspored Hegill on his entire en na poi michor ecielo lul introlo pur son appres por ma me find for his pos one fire you be full ton for the 01035 his oferthe 1/2020) . cologo his 0201/5 019 = 0/9 hr och of bar his the three on thise in rig trapples votes in the same of the on one of the line order when he et his my me will an ing he to to the on it in effer it one on the of his per ful ord him one one Of long on he egy I'm my obs fail his toons legis on? for his hos erent on her days his here on his ding his body this o'r one done tope an egis on he cente infiniel to in ? I'll mil aborning on min to countre Simply we have with me was got anone firsh of Mineral City how on tay thought his it's own this on tay when the hotely his or of any the hotely his or of any the like his of any of any of any his programment of any toult it topiest bygowing on tregil sowii sissoni for

2012 Pur pos for pos of of the post of a core of a eig mind high to trasping fill gens of the his Pine of Congres in the one by one by suc on his find on his all suc Pur in Dis fellest his or his on his man gipy cooks fix six ong wis fire exity leipe of visor ecirce right lil phosbild it Apr ens his Ring Has 525 Hill Ring is 5 son find fough one on) (ing Riling 11/10 little mas evil contra con min pare un sont ent be my be mis (una for my sur sins (una for my of the later 5.9 of let encot no oil find och the bill or Och But thes of other in the so acres out of of the file will all inch (in ferragin 92,100 to any dipe sigh for sight ferrigered on) By Giros Ciros apolicol mil Guit ago o sit and constituted and ero ero ero rugine ricers neac nis ono ero pin aido ELOCH IND file girl girl file for fluo sorre Pros fing the sig togs sig for Jip my try my try 29 plus - every of a fire Bux 1811 2 ers or or ohl 180 conp - grand a 1,2 ex 10/0 oul ores 40 410 (201 /1) ord on) कार भी आत अल्या हार्य हार हार हार दार हिल्ल हिल्ल हिल्ले दाल July ong the on out 1500 of his con one soul cut) will con אין אומת ופפן כיפשין וויל ויפנים ווית פות פנים פועולה אין זיעוים מלם to offer the los los fire dis esign of his right of gill his Direct ling 195 objec Juni Formy on his likit exil Je son Que They so pico on the sent his sent of the son of my Brob/ Ine My you stra sucunt ם עקרעם אם. Dulde site

WINDER 112, 500 500 11 34 Jam 29 1922 WHADER MARCE 112, 500 500 100 592 DA FRELI WO ME HAD SE PO OUT 1121 / ANNICH A:2,502 DI 441 ON #4 WINING FAMA JUI ON MI. SUCH JAND 352 522011 Mehrit but for how the sont me synthese synthesis and light how the synthesis has sont for significant was the sont for significant of the significant is diff while